BSEH MARKING SCHEME (March 2024)
Class 12t

Accountancy (Code: A)

Q. Expected Answers Distribution
no. Of marks
Part- A
HATIT-3A
(Accounting for Partnership firms and Companies)
(Frie waAf IR FufAg & v dwsa)

1. | (C) An owner and An Agent 1
(&) TaHT 3R weie &

2. | (B)13:3 1
(¥)13:3

3. | (B) Sacrificing partner’s capital A/C 1
(§) HT T dTed ASIERT & Yol @rdr 7

4. | Agreement 1
SGEIGICRRE]

5. | (C) On expiry of the period of partnership 1
() arEerT Fr 3afr gATd g W

6. | (B) Both (A) and (R) is true, and (R) is a true explanation of Assertion (A) 1
() &t (A) AT (R) &I 8, AR (R) fIaROT (A) T FET e ¢ |

7. | His Executor’s Account 1
38% 3TRESERT & @id H

8. | (B) Both (A) and (R) is true, and (R) is a true explanation of Assertion (A) 1
() T (A) TAT (R) T g, 3R (R) faawor (A) & @& earer ¢ |

9. | Reserve Capital 1
IRIET gl

10. | Revenue 1

3T




I1.

Any two differences from below or any other correct differences

Basis

Meaning

Nature

Holder

Return

Dividend and
Interest
Payment

Share

A share is a unit(a part) of
the capital of the
company.

A share form an Equity
capital.

A holder of a share is
known as a shareholder.

A shareholder earns
a dividend in return for
their investment.

A dividend is paid only
when there is a profit.

Debenture

A debenture is a debt instrument
issued to raise a borrowed fund.

A debenture form a debt capital.

A holder of a debenture is known as
a debenture holder.

A debenture yields a fixed rate
of interest (coupon rate) at a
specified date.

An interest on debenture is paid
irrespective of whether the company
is making a profit or incurring a
loss.
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1+1=2

1+1=2
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12.

TABLE SHOWING ADJUSTMENT

Particulrs AR BQR® CR® Total
Q)
Salary (Cr.) | 18000 4000 18000 40000
Division of ¥ 40000 in 3:3:2 (Dr.) | 15000 15000 10000 40000
Difference 3000 Cr. | 11000 Dr. 8000 Cr.
RECTIFYING JOURNAL ENTRY
Date Particulars L.F. Dr. X Cr.X
2017 | B’s capital A/C Dr. 11000
April 1 To A’s Capital A/C 3000
To c’s Capital A/C 8000
(Being Adjustment for omission of partner’s
salaries )

OR

Any two differences from below or any other correct differences

Basis

Meaning

No. of

Accounts

Presentation
in Balance
sheet

Adjustments

Fixed Capital Account

Under Fixed Capital, the capital
of the partners is considered
fixed and all the adjustments

related to the partner’s capital
are done through a separate

account known as Current A/c.

Two accounts are maintained
under the fixed capital Account,
i.e., Capital Account and
Current Account.

Capital Account and Current
Account both are shown in the
fixed capital account method.

All the adjustments related to
the partner’s capital are done
through the Partner’s Current
Account except for the
permanent withdrawal of capital
and additional capital.

Fluctuating Capital Account

Under the Fluctuating Capital,

the capital of partners
constantly fluctuates and no
separate account is made for
all the adjustments related to
the partner’s capital.

In Fluctuating Capital
Account, it consists of only
one account known as the
Capital Account.

In this method, only the
Capital account appears on
the balance sheet.

In this method, all the
adjustments are done in the
partner’s capital account
itself.

1+1=2

1+1=2




FFT & O FIS & 3T I A 37T & 3R
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13. | Goodwill Super profit x No. of year’s Purchase 72
X 100000 = Super profit x 4
Super profit = % 100000 =% 25000
4
Normal profit Actual Average Profit — Super Profit Y
= % 80000 - X 25000 =% 55000
Capital Employed = Normal Profit x 100 72
Normal Rate of Return Ya
= %5500 x 100 =% 550000
10
OR
Following is the characteristics of Goodwill (Any Two) 1+1=2

1. Itis an intangible Assets.

Nk

It is liable to constant fluctuations.
It is valuable only when entire business is sold.

It is difficult to place an exact value of goodwill.
Helps in earning excess revenues.
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14.

JOURNAL

Date | Particulars

L.F.

Dr. 2

Cr.%

Bank A/C Dr.
To C’s Capital A/C
To Premium for Goodwill A/C
(being the amount of capital and
goodwill/premium brought in cash )

260000

200000
60000

Premium for Goodwill Dr.
To A’s Capital A/C
To B’s Capital A/C
(being Goodwill/Premium
transferred to old partners capitals in
sacrificing ratio i.e. 2:1)

60000

40000
20000

2

15.

Any four from the following:
1. Credit balance of his capital account

2. His share in the growth of the firm's goodwill.

3. Profit of Revaluation Account

4. Interest on capital, if it is mentioned in the partnership deed.

5. His share in undistributed profits and reserves

6. His share in the profits till the date of death

o 7 ¥ Fg IR;

1. 38 golt @I &7 hise AV |

2. w Fr wfd i gefar A 3| e |
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12x4=2
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5. 3faaRa ot AR =y 7 3\ehr e |
6. Fcg &1 A de & orer & 3gehr Be|

16. JOURNAL
Date Particulars L.F. Dr.X Cr.X
Share Capital A/C Dr. 3200
To Calls in Arrears A/C 800 vz
To Share Forfeiture A/C 2400
(Being forfeiture of 400 share )
Bank A/C Dr. 2100
Share Forfeiture A/C Dr. 900 1
To Share Capital A/C 3000
(Being Re-issue of 300 share at X 7 as fully
paid)
Share Forfeiture A/C Dr. 900
To Capital Reserve A/C 900 72
(Being Gain on Re-issue of 300 share )
Note:
Forfeiture amount on 400 share =X 2000 4
Therefore, Forfeiture amount on 300 share = 2400 x 300 = 1800 7
400
Less : Loss on re-issue of 300 shares @ X 3 each = 900 &
900
17. JOURNAL
Date Particulars L.F. Dr.X Cr.X
(1) | Realisation A/C Dr. 1000
To Bank A/C 1000 1
(Being payment of dissolution expenses)
(i1) | Realisation A/C Dr. 1000
To Shyam’s Capital A/C 1000
(Being dissolution expenses paid by Shyam behalf 1
of firm)
(i11) | Partner’s Capital A/C Dr. 1000
To Bank A/C 1000 1

(Being realisation expenses paid by the firm on
behalf of the partner)




18. | (i) Purchase consideration = Assets — Creditors 72
=3560000 - T 80000 = T 480000 vz
(i1) Debenture of X 20 is issued at 20% Premium i.e. at X 4 premium
Hence, Number of Debenture Issued = 480000 = 20000
24
(ii1) JOURNAL OF R LTD.
Date | Particulars L.F. | Dr.X Cr.X
Assets A/C Dr. 560000
To Creditors 80000 1
To S Ltd. 480000
(being purchase of assets and creditors from S Ltd.)
S Ltd. Dr. 480000
To 8% Debenture A/C 400000
To Securities Premium A/C 80000 1
( being issue of 20000 Debenture of X 20 each at 20%
premium )
19. PROFIT AND LOSS APPROPRIATION ACCOUNT
For the year ended 31% march 2020
Dr. Cr.
Particulars % Particulars %
To B’s salary 42000 | By Profit and Loss A/C — V2
To Interest on Capitals: (being profit before B’s
A 80000 salary) Y
B 40000 120000 | (X 450000 + X 42000) 492000 V2
To Commission to B 30000
To Profits transferred to: !
A’s capital A/C 200000
B’s capital A/C 100000 300000 Ve
492000 492000
Calculation of partner’s Commission :
Profit = T 450000 — interest on capital T 120000 = T 330000
B’s commission ( after charging such commission) = 330000 x 10 =X 30000 /2
110
OR
Any three from the following:
1+1+1=3

(1) interest on capital
Partners are not eligible to get interest on the cash they contribute to a business.
Interest is only paid if the partnership agreement permits it to be paid out of that profit
when there is a profit. Interest is not paid in the event of a loss. In the event of a loss,
interest will not be paid out.

(i1) Interest On Drawings
No interest will be charged to the partners on the drawing they make.

(iii))  Commissions to Partner
A partner is not entitled to receive a salary or commission unless specifically
provided in the Partnership Agreement.




(iv)  Interest on loan
Each of the firm’s partners is eligible to receive 6% interest on any money they
lend to the company in the form of a loan.

(V) Equal Sharing of Profit
No matter how much money an individual contributes to the business as a partner,
they all get an equal portion of the company’s earnings.

Ffafea & @ :15 d9:

(i) Ioll T s&TaT
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20.

Total capital of B and C after all adjustment =% 140000 + X 100000 =X 240000
This capital should be in their profit sharing ratio i.e. 2:1
Therefore, B’s capital in the new firm should be =3 240000 x 2 =3 160000
3
C’s capital in the new firm should be =3 240000 x_1 =3 80000
3

Hence, cash to be brought in by B =3 160000 - X 140000 = X 20000

Cash to be brought in by C =3 100000 - X 80000 =X 20000

JOURNAL
| Date | Particulars |LF.| Dr.2 | Cr2 |

V2

Y

V2




Bank A/C Dr. 20000
To B’s capital A/C 20000 vz
(being amount brought in by B to raise his capital to
profit sharing ratio)
C’s capital A/C Dr. 20000
To Bank A/C 20000 2
(being amount withdrawn by C to bring his capital
to profit sharing ratio)
21. REVALUATION ACCOUNT
Dr. Cr.
Particulars b Particulars %
To Profit transferred to: By Plant and machineryA/C 14000 1
Ishu’s capital A/C 18480 By Provision for Doubtful
Vishu’s capital A/C 12320 30800 Debts A/C 7000
By Creditors A/C 9800
30800 _ 30800
CAPITAL ACCOUNTS
Dr. Cr.
Particulars | Ishu Vishu | Nishu | Particulars Ishu Vishu | Nishu
% % % ] ] ]
To Balance | 153080 | 134720 | 56000 | By balance b/d 119000 | 112000 | -
c/d By General 2
Reserve A/c 5400 3600 -
By Investment
Fluctuation Fund | 1800 1200 -
Alc
By Revaluation
Alc 18480 | 12320 | -
By Bank A/c - - 56000
By premium for
Goodwill A/c 8400 5600
153080 | 134720 | 56000 153080 | 134720 | 56000
BALANCE SHEET OF THE NEW FIRM
As at 1" April 2018
Liabilities % Assets %
Creditors 56200 | Cash at bank 149200
Capitals: Debtors 42000 1
Ishu 168000 Investment 19000
Vishu 112000 Buildings 98000
Nishu 56000 336000 | Plant & Machinery 84000
392200 392200
Working note :

Nishu’s capital is * 56000 and his share of profit 1/6
Based on Nishu’s capital, the total capital of the firm will be:
56000 x 6 =X 336000

1

Hence, Ishu’s capital in the new firm should be = 336000 x 3 =% 168000

6

Vishu’s capital in the new firm will be = 336000 x 2 =% 112000

10




Ishu will bring in X 168000 - X 153080 =X 14920

OR

Vishu will bring in X 134720 - X 112000 =X 22720

Before joining the firm, the new partner wants to be satisfied whether the value of assets
and liabilities shown in the balance sheet is correct or not. The old partners also want

proper accounting of the changes in the value of assets and liabilities with the passage of
time. Therefore, assets and liabilities are revalued. For this an account is opened which is
called Revaluation Account. Which is of the following type:

AT AR BF H Jd ¥ Y9 58 o1 & HISC glell ear ¢ o fes &
fewrs a8 Fufeat vd GRcal &1 Aeg @ § A1 78 | O A@eeR o a8
B ¢ o T AT g & w "ot AR e & e 7 o aRade
& T § 3T 3T oar fFar sv | safov gufaat 3k g &

YAH ATl T SITeT & | 38 [T Ueh @il @rerm STl & 18 qeaeiediohet
TAT &gl ST & | St [T YR & giar g

Dr. Revaluation Account Cr.
Particulars Amount (3) Particulars Amount (3)
To Machinery A/c 4,000 | By Land and Building 29,400
To Furniture A/c 2,500 | By Stock 6,000
To Provision for Doubtful Debts (W.N.2) 1,000 | By Investment 4,000
To Outstanding Electricity Bill 10,000 By Prepaid Insurance 10,000
To Profit on Revaluation Transferred to:
Amit's Capital A/c 15,950
Sumit's Capital A/c 15,950 31,900
49,400 49,400
22. Royal Ltd.
JOURNAL
Date Particulars L.F | Dr.X Cr.X
Bank A/C Dr. 1800000 Ya
To Equity Share Application A/C 1800000
(being application money received)
Equity share application A/C Dr. 1800000
To Equity share capital A/C 300000
To Securities Premium A/C 500000 72
To Equity Share Application A/C 600000
To Bank A/C 400000
(being application money transferred)
Equity Share Allotment A/C Dr. 700000
To Equity Share Capital A/c 700000
(being share allotment made due)
Bank A/C Dr. 98000 V2
Call in Arrears A/C Dr. 2000
To Equity share allotment A/C 100000
(being share allotment received)

11




Equity share capital A/C Dr. 20000
To Calls in Arrears A/C 2000
To Share forfeited A/C 18000
(being Raghu’s 4000 share forfeited )

Equity share First and Final Call A/C  Dr. 980000

To Equity Share Capital A/C 980000
(being share first and final call due on 196000
shares @ 5)

Bank A/C Dr. 950000
Call in Arrears A/C Dr. 30000

To Equity share Fisrt and Final Call A/C 980000
(being first and final call received on 190000
share )

Equity share capital A/C Dr. 60000
To Calls in Arrears A/C 30000
To Share Forfeited A/C 30000

(being Nandan’s 6000 shares forfeited)

Bank A/C Dr. 115000
To Equity Share Capital A/C 100000
To Securities premium A/C 15000

(being 10000 shares re-issue)

Share forfeited A/C Dr. 48000

Capital Reserve A/C 48000
(being balance of share forfeited account
transferred )

WORKING NOTE:
(1) (A) Excess amount received from Raghu on application:

Shares Allotted to Raghu = 7,000 x 200000 = 4,000
350000
Excess application money received from Raghu :

7,000 Shares-4,000 Shares = 3,000 Shares x ¥4 =312,000

(B) Amount due from Raghu on Allotment:

%

4,000 Shares x X 3.50 14,000
Less: Excess received from Raghu on Application 12000
Allotment money not received from Raghu 2000
(C) Total amount due on Allotment: 2,00,000 Shares x %3 .50 700000
Less: Excess amount received on Application 600000

Balance Due 100000
Less: Amount not received from Raghu on Allotment 2000
Net amount received on Allotment in Cash 98000

(2) Shares allotted to Nandan = 10500 x 200000 = 6000
350000

OR

V2

V2

Ve

V2

2

12




According to Section 52 (2) of the Companies Act 2013, the amount of security premium
can be used only for the following purposes:
(1) To write off the preliminary expenses of the company

(2) To write off the expenses, payment or deduction of commission incurred on the issue
of shares or debentures of the company.

(3) For issue of fully paid bonus shares to shareholders.

(4) To write off the premium paid at the time of payment of preference shares or
debentures of the company.

(5) According to section 68, for buy-back of its own shares and other securities.
The amount of securities premium reserve is also not used for distributing dividend to the
shareholders.

FEGeT HTAPTA 2013 A GRT 52 (2) F ITER wfasgfa PFTs Hr R F
AT dhae fArIfaf@d 3gcT & fav & frar S aar &

(1) FFTAT b YRTEHD cIAT I A& el & ToIv |

(2) HETEA & AT AT HOTYET & AT W fhT 30 77, AR & AT oA
Heldr dl 3afaf@a &= & fav|

(3) 3rerenTRAT @I quied Sierd 30T & e & forv)

(4) HFEYSAT o YATTDR 3HRA AT HOTTHET & AT & AT QT STt ared
AT Fr 39faf@d Fa & @)

(5) URT 68 & 36TAR 3Yel & 3eM AT 37 gfasffaal & ar9d $T (Buy-back)
& fou|

fastfa MR Fo &1 TR &1 GAET 3ReaRAT 1 reer dica & fow o
T o ST &

23.

PART B
ANALYSIS OF FINANCIAL STATEMENTS

i fazont &1 f@Aeewor

Any one from the following:

(1) do not reflect changes in price level

(1) influenced by personal judgement

(iii)based on accounting concepts and conventions
(iv) omission of qualitative information

(v) affected by window-dressing

o &7 & 75 &

() HeT TR & IREcdeT HT Jehe AT HLell

(ii) safFaera Aok & wenfaa

(iii) Sr@TehaT ITYROMSAT 3R W3t W 3meaRa
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(iv) J[OTIcH STTeAhT T 37T
(v) 315 fewmar & werifad

24. | (D) at a point of time 1
() ARTT ¥AT W

25. | Net Profit 1
ey oIS

26. (A) Both (A) and (R) is true, but (R) is not a true explanation of Assertion (A) 1

(31) AT (A) FAT (R) BT &, Weg (R) faaROT (A) T WY cameear =1l ¢ |

27. | Capital Employed 1

28. | Characteristics of Financial Statements: (any two)
(1) Financial statements relate to previous periods and hence are historical forms. 1+1=2

(i1) These are presented in monetary form.
(ii1) It presents profitability through profit and loss statement and financial position
through balance sheet.

i et fr YAy @IS Q)

(i) focfrr faaRor Roe 3 @ @ ga § 31a: I8 aerf@s uax g1
(i) 3o Hifoeh &7 # gEgd foham ST g

(iil) T ATHYSAT T ATH-gIfal faaror & Areys ¥ 3R fodiy Rufa « fufa
faavor & AT ¥ TEdd I o
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29.

Return on Investment = net profit before interest and tax x 100

Capital Employed

Calculation of Net Profit before Interest and Tax:
Net Profit after Tax =2%1,00,000

Net Profit before Tax

=1,00,000 x 100 _=X1,25,000

80

Net profit before Interest and Tax
=21,65,000
Capital Employed

=X1,25,000+ Interest ¥40,000

= Non-Current Assets + Current Assets - Current Liabilities

=36,00,000+ %4,00,000-% 2,00,000 =X8,00,000

Return on Investment

800000

OR

=1,65.000 x 100 =20.625%

Basis Current ratio

Quick ratio

This ratio establishes a
relationship between current
assets and current liabilities.

1. Relationship

Current ratio = current assets
current liabilities

2. Formula for
computation

3. Ideal ratio The current ratio 2:1 is

considered ideal.

This ratio establishes a
relationship between liquid
assets and current liabilities.

Quick ratio = liquid assets
Current liabilities

Quick ratio 1:1 is considered
ideal.

3T T 3R | =Te] 34T ofrer 3reqare
I WY | g 3eJUId Il HUAl AR | Ig 3HeIard Rl FFEafaar
are] gficdl & T uw 3R =T aTRicdt & & v
e T T § | GFaeY T T § |
2. A Current ratio = current assets Quick ratio = liquid assets
current liabilities Current liabilities
el T
g .
i A, I 2:1 HE FA | ofrgr spgarer 1:1 ey A
3.
ST & | ST ¥ |
o]

2

V2

Ve
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30.

CALCULATION OF CASH FLOW FROM OPERATING ACTIVITIES

For the year ended...........
Particulars b %
Net profit before tax 130000
Adjustment for non-cash and non-operating items:
Add: Depreciation 20000
Goodwill written off 7000 27000
157000
Less: Gain on sale of Machinery 3000
154000
Operating profit before working capital changes
Add: Increase in Current liabilities:
Trade payable 10000
164000
Less: Increase in Current Assets:
Trade receivable 6000
Prepaid expenses 200
Less: Decrease in current liabilities:
Outstanding expenses 2000 8200
Net Cash Flow From Operating Activities 155800
Note (1) Calculation of Net Profit before Tax: %
Profit made during the year 100000
Add: Transfer to General Reserve 30000
Net Profit before Tax 130000

OR

Any five from the below with correct explanation

Useful for Short-term financial Planning
Useful in Preparing the Cash Budget
Comparison with the cash Budget

Helpful in making Dividend Decisions

Nk W=

A QU T A § P IrT TEY SIATEAT & AT

1. 3Te9ahrIloler AT Aatar & forw 3l
2.3 Solc IR Hel H 39N

3. #¥ehe, SoTc & ol

4. oAehe, WITCT UG ATl T Ui T HETIeA

Study of the Trend of Cash Receipt and Payments
It explains the Deviations of Cash from Earnings

5.8 HAS T Ader & [adeled HT AT FAT &

6. AT AU O H "Egs

Helpful in Ascertaining Cash Flow from Various Activities Separately

7. Rffea afaf_RfOAt & 31cR1-31619T Fhdr Yarg &7 gar e H e

2

V2

2

72
vz

Y2
vz

5 marks

for each
correct
point

heading

and

Y, marks

for each
correct

explanation
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23.

PART B
COMPUTERISED ACCOUNTING

Computerized accounting is a software based budgeting and accounting system for
managing expenses, payment processing, budgeting and reporting.

hegcliehc AGIehet, T, Il THERIUT doic AR RAIfear & geee & fau
Teh AFeddX YR soic 3R o @r JoTelr § |

24.

One
T

25.

(D) All of the above
() 3WFT Gt

26.

(A) Sum= (A1+A2+A3)
(3T) Sum= (A1+A2+A3)

27.

(C) both (A) and(B)
(@) (31) 3R () a¥=At

28.

Any four from below:
1. software

2. hardware

3. log

4. process

5. data

6. connectivity

T 7 @ F% IR
. FIFeaW

S N

Vx4=2

29.

Functions of spreadsheet-

Spreadsheets have columns and rows to keep the information included legible and easy to
understand. You can use spreadsheets to enter data, calculate equations, and create charts
and graphs.

1. Computation — Spreadsheet programs can be created to calculate various
mathematical operations starting with addition, subtraction, multiplication and division.
You can create relational functions such as greater than, equal to, and less than.

2. Statistical Analysis-- Excel can calculate the sum, variance, and average of a range of
numbers. Creation and analysis of statistical values, such as the mean and standard error
of percentile ranks and variables are additional functions available.

3. Formatting — Spreadsheet software allows cells, rows and columns to be expanded,
merged, inserted and deleted. This helps when you are using long text and equations.

1x3=3

17




Spreadsheet software also includes some of the functions found in word processing
applications, allowing you to format row and column headlines by adding italics, bold,
and other text characteristics, underlining and changing styles.

wsde & FR-

wsehe A afFAfad SRl # gured iR F@se # e @ & AT $Had iR
gfFaar gidr &1 3T 3eT gof Flel RGN HI I0TAT Il IR A 3R AF FA7 &
forT wslie &1 3uANT X Feh &1 1. IO — SIS, TErd, M AR HET & T Y&
gl gt Rffe AT w3t & T A F fow wsie NIE g9 1 Fhd

g1 3T el haid §T Johd & o b ST §31, 3Hd RN 3R 598 FHA|

2. ITETHT fAReIUT- Tardel HEAT3T T Al & et et 3 3frad i avrer
ThdT §| HITEIRIT Hedl & fAdor 3R favewor, S & #red 3R gfderas & H
AT & AR =W ARFT 3ueietr FF &

3. TIEUUT - TSl AivedAR HIRNALT, dfFaat 3R Fst @ 4R, fae,
fFATIT 3R §eT S A1 AT ST &1 F§ 9 Fee AT § S 3T o TR
3R FiERTl @1 3T A @ A 8 wsdic SR # a8 St eyt 7
I S aTel F© Heelel o A B, foed 3 géfere, dies 3R 3w eaee
faryan3it &1 Aferar & @ifra 3R seaet dfdd 3R Fice gSaBa & TwRfT HT
qhd gl

OR

Components of Ms Access (any three)

1. Tables — divided into MS groups — to structure the Access database and store data. It is the
main component of the system. Data is stored in a two-dimensional table (array analog).

2. Requests — QBE and SQL queries to the database to find information. In simple words, the
query is a particular phrase like this: "Select all white people from sales department".

3. Size- For easy entry, viewing and editing.

4. Reports — For preparation and nice-visual presentation of document data for printing.

Ms Access & T (PS5 o)

1. 3o - TAUH Hegl A fqeford fonam arm §- U Saed T EIEeT AN Ser A
TR A & TAU| g YOTell T HET Teeh gl ST Al gid-3arHT dlfciehl (FROM
TATAdT) H TAGIT foham ST &1

2. 3 - PRI Tiolel & T Seed & T QBE 3 SQL Fadl| #XeT sal A,
FAU 5T RE F U AAY arerier g "oy [Famer @ gafy ik e &1 a3 & ")

3. 3R- 3T 9aeT, @ 3R Ut & |

4. ROrE- Oie e & v gFardsr se7 & Gany 3R 3edr-veg wEgfa & fav|
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30.

Spreadsheet

Grid

(1) It is used for data manipulation like
editing, arithmetic operations and
displaying the data in the form of line
graphs, charts etc.

(2) You can bind multiple data sources to
a single sheet for different ranges and you
can bind data sources to multiple sheets.

(3) You can use Excel features like
Formula, Cell Formatting, Number
Formatting, Conditional Formatting,
Tables, Find and Replace, Merge Cells,
Charts, Comments, Protect Sheet, Auto
Fill, Data Validation, Cell Types, etc.

(4) You can open these files and save in
Excel file formats.

(1) It is used only for limited manipulation
such as organizing and editing data.

(2) You can only bind a single data source.

(3) Supports limited features compared to
spreadsheets.

(4) Only save feature is available.

(5) Excel like behaviour. (5) Like behavior table.
(6) It has functions to respond to (6) Not applicable.
statistical, engineering and financial
needs.
wseie firs
(1) SHT 3TN 3T 3R WP S | (1) TP 39T shaol ST i
HUTesT, {harordi TR 3iX 3e7 | cgafeyd e 3R gues 38 @ifaa
FI ST IH, IE 3¢ & &7 H W & fow Far sirar 8

Ueiid el & fow f&ar Srar g1

(2) AT 3TIT-IHeldT T & fov T &
e H $$ 3T &l §188 FT Tehd
g 3N T #$ ofie & AT ey
Pl 9158 A Thd ol

(3) 3T UFAT I3 S HieeT,
o BraAfeer, AeT i, HIrReTe
J, AEH, FHcH, Yieae e, 3ifer
fret, 3eT Aforsers, e ersyg 3nfe &1
3T X Thd &

(2) 39 Hhde Tehd 3T Ald HI d188
X Thd Bl

(3) Tisefie &1 oo & @A
giaen3it o1 FHEGT Fr |

(4) hael T HraX 39eY gl

Ix5=5
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(4) 3 3T BIScl HI Gl THhd o
IR AT BIEd TaRAT H T
oo Bl (5) STIER I Rg drfetah|

(5) TFdeT ST TdEN | (6) AT A& |

(6) 3TH FITEIHT, SollfaaRar 3R
ST Sal &1 S99 ¢ & v
FY &

OR

On the basis of the report, the management takes important decisions. Therefore, the
essentials of a good annotation system are as follows-

1. Provide information form information to facilitate decision making.

2. Timing: Promptness is very important as reports include delayed information for action
and when adverse events or incidents are observed, immediate action should be taken.
The sooner the report is given, the sooner corrective action can be taken.

3. Flow of information: The right level of information access should be decided up to the
level of authority. Apart from this, information should flow in a complete and
contemporary manner.

4. Change: The system should be able to be disabled as per the user's requirement.

5. Facilitate assessment: The system should clearly report standards or estimates to
scientists. Control equipment should be distinguished from non-control equipment and
reported separately.

6. Industry: A cost and such cost should be compared with the benefit derived from
providing information for reporting or the loss resulting from not reporting. What a
consultant should consider when developing a scheduling system.

RO & HUR W, JaU= Ageaqul U o &1 ST, 3e Telees feeH &

1. TS0 ot 1 glaur & fov Faer gad T SeaRl Jero Hl|

2.FAY : AT Sgd AgedqOT & Fifh R & faeifad F@em o FRars & fow
nfier fFam arm § 3R e gfger ar g S8 S §, dF X FRars gl aifeul
el STedl RAIE & el § el &1 STed! URIcHS Frars #ff & S Fehcl &
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3. G &1 JaTg . FIAT FUFR & T TR F A WfHaor & TR da & [
forar S @nfRvl 8% 3remar veh qof 3R gAAARE JeERl cgaedr & e &
gaTigd glell d1gTI

4. qREce : TOECH T YAl Sl ATl & HTAR IETH A H T&TH glel
Uy

5. 3Teholel T HiAUT: EECH Y Aleleh AT 3JAT ol d=iliolehl I TISC &I &
RAE FET TR FIIT 3YSOT HF IR-TFIF0T 3uaor @ 37ereT HAT ST AT
3T 3rerET I RAE R S anfgu|

6. 3ANT: Teh AT 3R O ot & JoledT RAIE & T Faalr Jered a¥el & 9o
ot A1 RUIE o gl & gl alell gl & |1 T STl AT | FAIGCHA JuTTell
fafad el & faIU T FelgahR &l o W TaR & anfgu|
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